

Article

Branching Functions for Admissible Representations of Affine Lie Algebras and Super-Virasoro Algebras

Namhee Kwon

Department of Mathematics, Daegu University, Gyeongsan, Gyeongbuk 38453, Korea; nkwon@daegu.ac.kr

Received: 2 May 2019; Accepted: 17 July 2019; Published: 19 July 2019



Abstract: We explicitly calculate the branching functions arising from the tensor product decompositions between level 2 and principal admissible representations over $\widehat{\mathfrak{sl}}_2$. In addition, investigating the characters of the minimal series representations of super-Virasoro algebras, we present the tensor product decompositions in terms of the minimal series representations of super-Virasoro algebras for the case of principal admissible weights.

Keywords: branching functions; admissible representations; characters; affine Lie algebras; super-Virasoro algebras

1. Introduction

One of the basic problems in representation theory is to find the decomposition of a tensor product between two irreducible representations. In fact, the study of tensor product decompositions plays an important role in quantum mechanics and in string theory [1,2], and it has attracted much attention from combinatorial representation theory [3]. In addition, recent studies reveal that tensor product decompositions are also closely related to the representation theory of Virasoro algebra and W -algebras [4–6].

In [6], the authors extensively study decompositions of tensor products between integrable representations over affine Lie algebras. They also investigate relationships among tensor products, branching functions and Virasoro algebra through integrable representations over affine Lie algebras.

In the present paper we shall follow the methodology appearing in [6]. However, we will focus on admissible representations of affine Lie algebras. Admissible representations are not generally integrable over affine Lie algebras, but integrable with respect to a subroot system of the root system attached to a given affine Lie algebra. Kac and Wakimoto showed that admissible representations satisfy several nice properties such as Weyl-Kac type character formula and modular invariance [5,7]. In their subsequent works, they also established connections between admissible representations of affine Lie algebras and the representation theory of W -algebras [4,8]. In addition, Kac and Wakimoto expressed in ([9], Theorem 3.1) the branching functions arising from the tensor product decompositions between principal admissible and integrable representations as the q -series involving the associated dominant integral weights and string functions.

One of the main results of this paper is the explicit calculations of the branching functions appearing in ([9], Theorem 3.1). We are particularly interested in the calculations of the branching functions obtained from certain tensor product decompositions of level 2 integrable and principal admissible representations over $\widehat{\mathfrak{sl}}_2$ (see Theorem 4). We shall see that these branching functions connect the representation theory of affine Lie algebras with the representation theory of super-Virasoro algebras.

We usually apply the theory of modular functions for calculations of string functions [10]. However, in the current work we shall not use the tools of modular functions for the calculations of the string functions appearing in ([9], Theorem 3.1). Instead, we shall use both the invariance properties of

string functions under the action of affine Weyl group and the character formula whose summation is taken over maximal weights (see Theorem 5). It seems like that this approach provides a simpler way for computations of the string functions in our cases.

We would like to point out that in ([5], Corollary 3(c)) the authors expressed the branching functions in terms of theta functions. We shall show that our expressions for the branching functions appearing in Theorem 4 are actually same as those of ([5], Corollary 3(c)) through the investigations of the characters of the minimal series representations of super-Virasoro algebras. Comparing our calculations of the branching functions over \widehat{sl}_2 with the characters of the minimal series representations of super-Virasoro algebras, we also present the tensor product decompositions between level 2 integrable and principal admissible representations in terms of the minimal series representations of super-Virasoro algebras (see Theorem 6). This generalizes the decomposition formula appearing in ([6], Section 4.1(a)) to the case of principal admissible weights.

2. Preliminaries

Let $A = (a_{ij})_{1 \leq i, j \leq n}$ be a symmetrizable generalized Cartan matrix and \mathfrak{g} the Kac-Moody Lie algebra associated with A . Let \mathfrak{h} be a Cartan subalgebra of \mathfrak{g} . Fix the set of simple roots $\Pi = \{\alpha_1, \dots, \alpha_n\}$ of \mathfrak{h} and simple coroots $\Pi^\vee = \{\alpha_1^\vee, \dots, \alpha_n^\vee\}$ of \mathfrak{h}^* , respectively. Assume that Π and Π^\vee satisfy the condition $\alpha_j(\alpha_i^\vee) = a_{ij}$. We denote by (\mid) the non-degenerate invariant symmetric bilinear form on \mathfrak{g} . Write Δ, Δ_+ and Δ_- for the set of all roots, positive roots and negative roots of \mathfrak{g} , respectively. Put $\Delta^{re} = \{\alpha \in \Delta \mid (\alpha \mid \alpha) > 0\}$ and $\Delta^{im} = \{\alpha \in \Delta \mid (\alpha \mid \alpha) \leq 0\}$. For each $i = 1, \dots, n$, we define the fundamental reflection r_{α_i} of \mathfrak{h}^* by

$$r_{\alpha_i}(\lambda) = \lambda - \lambda(\alpha_i^\vee)\alpha_i \quad (\lambda \in \mathfrak{h}^*).$$

The subgroup W of $GL(\mathfrak{h}^*)$ generated by all fundamental reflections is called the *Weyl group* of \mathfrak{g} .

Among symmetrizable Kac-Moody Lie algebras, the most important Lie algebras are affine Lie algebras whose associated Cartan matrices are called *affine Cartan matrices*. It is known that every affine Cartan matrix is a positive semidefinite of corank 1. Each affine Cartan matrix is in one-to-one correspondence with the affine Dynkin diagram of type $X_n^{(r)}$, where $X = A, B, C, D, E, F$ or G and $r = 1, 2$ or 3 . The number r is called the *tier number* (see [11,12] for details). Given an affine Cartan matrix $A = (a_{ij})_{0 \leq i, j \leq l}$, two $(l + 1)$ -tuples $(a_i^\vee)_{0 \leq i \leq l}$ and $(a_i)_{0 \leq i \leq l}$ of positive integers are uniquely determined by the conditions

1. $(a_0^\vee, a_1^\vee, \dots, a_l^\vee) A = \mathbf{0}$,
2. $A \begin{pmatrix} a_0 \\ a_1 \\ \vdots \\ a_l \end{pmatrix} = \mathbf{0}$,
3. $gcd(a_0^\vee, a_1^\vee, \dots, a_l^\vee) = gcd(a_0, a_1, \dots, a_l) = 1$,

where $\mathbf{0}$ is the zero vector. We call $(a_i)_{0 \leq i \leq l}$ (resp. $(a_i^\vee)_{0 \leq i \leq l}$) the *label* (resp. *colabel*) of the affine matrix A . The corresponding positive integer $h = \sum_{i=0}^l a_i$ (resp. $h^\vee = \sum_{i=0}^l a_i^\vee$) is called the *Coxeter number* (resp. *dual Coxeter number*). Notice that the element $K = \sum_{i=0}^l a_i^\vee \alpha_i^\vee$ satisfies $\alpha_i(K) = 0$ for $0 \leq i \leq l$, and we call this element the *central element*. Through the non-degenerate bilinear form (\mid) defined on \mathfrak{g} , the central element K corresponds to $\delta = \sum_{i=0}^l a_i \alpha_i$ in \mathfrak{h}^* .

Suppose that \mathfrak{g} is the affine Lie algebra associated to an affine Cartan matrix $A = (a_{ij})_{0 \leq i, j \leq l}$ and let \mathfrak{h} be a Cartan subalgebra of \mathfrak{g} . The Cartan subalgebra \mathfrak{h} is $(l + 2)$ -dimensional, and we can decompose \mathfrak{h} and \mathfrak{h}^* as follows:

$$\begin{aligned} \mathfrak{h} &= \bar{\mathfrak{h}} \oplus \mathbb{C}K \oplus \mathbb{C}\delta, \\ \mathfrak{h}^* &= \bar{\mathfrak{h}}^* \oplus \mathbb{C}\delta \oplus \mathbb{C}\Lambda_0, \end{aligned}$$

where $\bar{\mathfrak{h}} = \sum_{i=1}^l \mathbb{C}\alpha_i^\vee$ and $\bar{\mathfrak{h}}^* = \sum_{i=1}^l \mathbb{C}\alpha_i$.

The lattice $Q = \sum_{i=0}^l \mathbb{Z}\alpha_i$ and $Q^\vee = \sum_{i=0}^l \mathbb{Z}\alpha_i^\vee$ are called the *root lattice* and *coroot lattice*, respectively. Set

$$M = \begin{cases} \bar{Q}^\vee & \text{if } r = 1 \text{ or } A = A_{2l}^{(2)}, \\ \bar{Q} & \text{if } r \geq 2 \text{ and } A \neq A_{2l}^{(2)}. \end{cases}$$

For an element $\alpha \in Q$, we define $t_\alpha \in GL(\mathfrak{h}^*)$ by

$$t_\alpha(\lambda) = \lambda + (\lambda|\delta)\alpha - \left\{ \frac{|\alpha|^2}{2} (\lambda|\delta) + (\lambda|\alpha) \right\} \delta \quad (\lambda \in \mathfrak{h}^*).$$

We call t_α ($\alpha \in Q$) the *translation operator*. It is known that the Weyl group W of the affine Lie algebra \mathfrak{g} is also given by $\bar{W} \ltimes t_M$, where $\bar{W} = \langle r_{\alpha_i} | 1 \leq i \leq l \rangle$ and $t_M = \{t_\alpha | \alpha \in M\}$.

For a non-twisted affine Lie algebra (i.e., $r = 1$), recall that

$$\Delta^{im} = \{n\delta | n \in \mathbb{Z} - \{0\}\}$$

and

$$\Delta^{re} = \{n\delta + \alpha | n \in \mathbb{Z}, \alpha \in \bar{\Delta}\},$$

where $\bar{\Delta}$ is the set of all roots of the finite-dimensional simple Lie algebra associated with the finite Cartan matrix $\bar{A} = (a_{ij})_{1 \leq i, j \leq l}$.

Set

$$\begin{aligned} P &= \{\lambda \in \mathfrak{h}^* | \lambda(\alpha_i^\vee) \in \mathbb{Z} \text{ for } 0 \leq i \leq l\}, \\ P^m &= \{\lambda \in P | \lambda(K) = m\}, \\ P_+ &= \{\lambda \in \mathfrak{h}^* | \lambda(\alpha_i^\vee) \in \mathbb{Z}_{\geq 0} \text{ for } 0 \leq i \leq l\}, \\ P_+^m &= P^m \cap P_+. \end{aligned}$$

An element in P (reps. P_+) is called an *integral weight* (resp. a *dominant integral weight*). Let ρ be the dominant integral weight defined by $\rho(\alpha_i^\vee) = 1$ for $0 \leq i \leq l$. The element ρ is called the *Weyl vector* of \mathfrak{g} . It is sometimes convenient to choose the Weyl vector satisfying the additional condition $\rho(d) = 0$, and we get $\rho = \bar{\rho} + h^\vee \Lambda_0$ in this case.

Define the fundamental weights $\Lambda_i \in \mathfrak{h}^*$ ($0 \leq i \leq l$) by $\Lambda_i(\alpha_j^\vee) = \delta_{ij}$ ($0 \leq j \leq l$) and $\Lambda_i(d) = 0$. Similarly, we define the fundamental coweights $\Lambda_i^\vee \in \mathfrak{h}$ ($0 \leq i \leq l$) by $(\Lambda_i^\vee | \alpha_j) = \delta_{ij}$ ($0 \leq j \leq l$) and $(\Lambda_i^\vee | d) = 0$. Let $\bar{\Lambda}_i$ and $\bar{\Lambda}_i^\vee$ be the restrictions of Λ_i and Λ_i^\vee to $\bar{\mathfrak{h}}^*$ and $\bar{\mathfrak{h}}$, respectively. Put $\bar{P} = \sum_{i=1}^l \mathbb{Z}\bar{\Lambda}_i$ and $\bar{P}^\vee = \sum_{i=1}^l \mathbb{Z}\bar{\Lambda}_i^\vee$, and let us introduce a lattice

$$\tilde{M} = \begin{cases} \bar{P}^\vee & \text{if } r = 1 \text{ or } A = A_{2l}^{(2)}, \\ \bar{P} & \text{if } r \geq 2 \text{ and } A \neq A_{2l}^{(2)}. \end{cases}$$

Then, the group $\tilde{W} = \bar{W} \ltimes t_{\tilde{M}}$ is called the *extended affine Weyl group* of \mathfrak{g} .

3. Branching functions for admissible weights

Let \mathfrak{g} be the Kac-Moody Lie algebra associated to a symmetrizable generalized Cartan matrix A , and \mathfrak{h} a Cartan subalgebra of \mathfrak{g} . An element $\lambda \in \mathfrak{h}^*$ satisfying conditions

1. $\langle \lambda + \rho, \alpha^\vee \rangle \in \mathbb{Q} - \mathbb{Z}_{\leq 0}$ for all $\alpha \in \Delta_+^{re} := \Delta_+^{re} \cap \Delta_+$,
2. \mathbb{Q} -span of $\{\alpha \in \Delta_+^{re} | \langle \lambda + \rho, \alpha^\vee \rangle \in \mathbb{Z}\} = \mathbb{Q}$ -span of Δ_+^{re}

is called an *admissible weight*. When λ is an admissible weight, the corresponding irreducible highest weight \mathfrak{g} -module $L(\lambda)$ is called an *admissible \mathfrak{g} -module* or *admissible representation*. Write

$$\Delta_\lambda^{\vee re} = \{ \alpha^\vee \mid \alpha \in \Delta^{re} \text{ and } \langle \lambda + \rho, \alpha^\vee \rangle \in \mathbb{Z}_{\geq 1} \}.$$

Then, it is easy to see that $\Delta_\lambda^{\vee re}$ forms a subroot system of the coroot system Δ^\vee . We denote by Π_λ^\vee a base of $\Delta_\lambda^{\vee re}$, and put $W_\lambda = \langle r_\alpha \mid \alpha \in \Pi_\lambda^\vee \rangle$.

An admissible weight λ is called a *principal admissible weight* if Π_λ^\vee is isomorphic to Π^\vee . In general, the level of a principal admissible weight is a rational number. In fact, it is known from [7] that a rational number $m = \frac{v}{u}$ ($u \in \mathbb{Z}_{\geq 1}$, $v \in \mathbb{Z}$, $\gcd(u, v) = 1$) is the level of principal admissible weights if and only if it satisfies

1. $\gcd(u, r^\vee) = 1$,
2. $u(m + h^\vee) \geq h^\vee$,

where r^\vee is the tier number of the transposed generalized Cartan matrix A^t and h^\vee denotes the dual Coxeter number of \mathfrak{g} .

Henceforth, we assume that \mathfrak{g} is an affine Lie algebra with a simple coroot system $\Pi^\vee = \{ \alpha_0^\vee, \dots, \alpha_l^\vee \}$.

Given $u \in \mathbb{Z}_{\geq 1}$, put $\gamma_0 = (u - 1)c + \alpha_0^\vee$ and $\gamma_i = \alpha_i^\vee$ ($1 \leq i \leq l$). Define $S_{(u)} = \{ \gamma_i \mid 0 \leq i \leq l \}$. Then, $S_{(u)}$ becomes a simple coroot system of $\Delta^\vee \cap \left(\sum_{i=0}^l \mathbb{Z} \gamma_i \right)$ if $\gcd(u, r^\vee) = 1$ (see [13], Lemma 3.2.1). Moreover, the following theorems are known.

Theorem 1. Let $m = \frac{v}{u}$ with $u \in \mathbb{Z}_{\geq 1}$, $v \in \mathbb{Z}$ and $\gcd(u, v) = 1$. Assume that $y \in \tilde{W}$ satisfies $y(S_{(u)}) \subset \Delta_+^\vee$. Write $P_{u,y}^m$ for the set of all principal admissible weights λ of level m with $\Pi_\lambda^\vee = y(S_{(u)})$. Then, we have

$$P_{u,y}^m = \left\{ y \left(\lambda^0 - (u - 1)(m + h^\vee) \Lambda_0 + \rho \right) - \rho \mid \lambda^0 \in P_+^{u(m+h^\vee)-h^\vee} \right\}.$$

Proof. See ([7], Theorem 2.1) or ([9], Proposition 1.5). \square

Theorem 2. Let $m = \frac{v}{u}$ with $u \in \mathbb{Z}_{\geq 1}$, $v \in \mathbb{Z}$ and $\gcd(u, v) = 1$. Let P_+^m be the set of all principal admissible weights of level m (we use the same notation as the case of dominant integral weights). Then, $P_+^m = \bigcup_y P_{u,y}^m$, where y runs over $\{ y \in \tilde{W} \mid y(S_{(u)}) \subset \Delta_+^\vee \}$.

Proof. See ([9], Proposition 1.5). \square

Let us now review branching functions and their connections with the Virasoro algebra.

Recall the Virasoro algebra is an infinite dimensional Lie algebra $Vir = \left(\bigoplus_{n \in \mathbb{Z}} \mathbb{C} \ell_n \right) \oplus \mathbb{C} c$ with brackets

$$[\ell_m, c] = 0 \text{ for all } m \in \mathbb{Z}$$

and

$$[\ell_m, \ell_n] = (m - n)\ell_{m+n} + \frac{m^3 - m}{12} \delta_{m+n,0} c \text{ for all } m, n \in \mathbb{Z}.$$

Let $\bar{\mathfrak{g}}$ be a finite dimensional simple Lie algebra, and $\mathfrak{g} = \mathbb{C}[t, t^{-1}] \otimes \bar{\mathfrak{g}} \oplus \mathbb{C}K \oplus \mathbb{C}d$ the non-twisted affine Lie algebra over $\bar{\mathfrak{g}}$. Let V be the highest weight \mathfrak{g} -module of level m such that $m + h^\vee \neq 0$. Define the operators $L_n^{\mathfrak{g}}$ ($n \in \mathbb{Z}$) via

$$L^{\mathfrak{g}}(z) = \sum_{n \in \mathbb{Z}} L_n^{\mathfrak{g}} z^{-n-2} = \frac{1}{2(m + h^\vee)} \sum_{i=1}^{\dim \bar{\mathfrak{g}}} : u^i(z) u_i(z) :, \tag{1}$$

where $\{u^i\}$ and $\{u_i\}$ are bases of $\bar{\mathfrak{g}}$ satisfying $(u_i|u^j) = \delta_{ij}$. It is well-known that V becomes a *Vir*-module by letting

$$\ell_n \mapsto L_n^{\mathfrak{g}} \ (n \in \mathbb{Z}) \text{ and } c \mapsto \frac{m \dim \bar{\mathfrak{g}}}{m + h^\vee}. \tag{2}$$

The Virasoro action (2) satisfies the following properties:

$$[\ell_n, t^j \otimes X] = -jt^{j+n} \otimes X \ (X \in \bar{\mathfrak{g}}, n \in \mathbb{Z} - \{0\}, j \in \mathbb{Z}), \tag{3}$$

$$\ell_0 = \frac{(\Lambda + 2\rho|\Lambda)}{2(m + h^\vee)} \text{Id} - d. \tag{4}$$

Let $\bar{\mathfrak{p}}$ be a reductive subalgebra of $\bar{\mathfrak{g}}$. Then, $\bar{\mathfrak{p}}$ is decomposed as $\bar{\mathfrak{p}} = \bar{\mathfrak{p}}_0 \oplus \bar{\mathfrak{p}}_1 \oplus \dots \oplus \bar{\mathfrak{p}}_s$, where $\bar{\mathfrak{p}}_0$ is the center of $\bar{\mathfrak{p}}$ and each $\bar{\mathfrak{p}}_i$ ($i = 1, \dots, s$) is a simple Lie algebra. Assume that

$$\bar{\mathfrak{p}}_0 \oplus \left(\sum_{i=1}^s \bar{\mathfrak{h}}_i \right) \subset \bar{\mathfrak{h}}$$

and

$$\sum_{i=1}^s \bar{\mathfrak{p}}_{i+} \subset \bar{\mathfrak{g}}_+,$$

where $\bar{\mathfrak{h}}_i$ (resp. $\bar{\mathfrak{h}}$) is a Cartan subalgebra of $\bar{\mathfrak{p}}_i$ (resp. $\bar{\mathfrak{g}}$) and $\bar{\mathfrak{p}}_{i+}$ (resp. $\bar{\mathfrak{g}}_+$) is the sum of the positive root spaces of $\bar{\mathfrak{p}}_i$ (resp. $\bar{\mathfrak{g}}$). Consider the affinization $\mathfrak{p} = (\mathbb{C}[t, t^{-1}] \otimes \bar{\mathfrak{p}}) \oplus \mathbb{C}\dot{K} \oplus \mathbb{C}d$ of $\bar{\mathfrak{p}}$. Since V is the highest weight \mathfrak{g} -module, V is also the highest weight \mathfrak{p} -module. However, the action of the central element \dot{K} on V is somewhat complicated. We refer to ([11], Chapter 12) for the details of the action of the central element \dot{K} . Let \dot{m} be the level of V as a \mathfrak{p} -module, and write $(|)'$ for the standard bilinear form on $\bar{\mathfrak{p}}$. Set

$$L^{\mathfrak{p}} = \sum_{n \in \mathbb{Z}} L_n^{\mathfrak{p}} z^{-n-2} = \frac{1}{2(\dot{m} + h^\vee)} \sum_{i=1}^{\dim \bar{\mathfrak{p}}} : \dot{u}^i(z) \dot{u}_i(z) :, \tag{5}$$

where $\{\dot{u}^i\}$ and $\{\dot{u}_i\}$ are bases of $\bar{\mathfrak{p}}$ satisfying $(\dot{u}^i|\dot{u}_j)' = \delta_{ij}$ and h^\vee is the dual Coxeter number of $\bar{\mathfrak{p}}$. Using (1) and (5), define

$$L^{\mathfrak{g}:\mathfrak{p}}(z) = L^{\mathfrak{g}} - L^{\mathfrak{p}} = \sum_{n \in \mathbb{Z}} L_n^{\mathfrak{g}:\mathfrak{p}} z^{-n-2}.$$

Due to (3), it follows that

$$[L_n^{\mathfrak{g}:\mathfrak{p}}, t^j \otimes X] = 0 \text{ for all } X \in \bar{\mathfrak{p}}, n \in \mathbb{Z} - \{0\} \text{ and } j \in \mathbb{Z}. \tag{6}$$

Applying the operator product expansions, we can verify that $L^{\mathfrak{g}:\mathfrak{p}}(z)$ is, in fact, a Virasoro field with the central charge $c^{\mathfrak{g}:\mathfrak{p}} = \frac{m \dim \bar{\mathfrak{g}}}{m + h^\vee} - \frac{\dot{m} \dim \bar{\mathfrak{p}}}{\dot{m} + h^\vee}$ (see [13,14] for the details). We call the Virasoro field $L^{\mathfrak{g}:\mathfrak{p}}(z)$ the *coset Virasoro field*.

In the remaining part of this section, we assume that $V = L(\Lambda)$ for a dominant integral weight Λ of level m . Let $\dot{\mathfrak{h}}$ be a Cartan subalgebra of $\bar{\mathfrak{p}}$, and \mathfrak{p}_+ the positive part of \mathfrak{p} . For $\nu \in (\dot{\mathfrak{h}} \oplus \mathbb{C}\dot{K})^*$, set

$$V_\nu^{\mathfrak{g}:\mathfrak{p}} = \left\{ v \in L(\Lambda) \mid Xv = 0 \ (\forall X \in \mathfrak{p}_+), Hv = \nu(H)v \ (\forall H \in \dot{\mathfrak{h}} \oplus \mathbb{C}\dot{K}) \right\}.$$

Due to (4) and (6), $V_\nu^{\mathfrak{g}:\mathfrak{p}}$ is stable under the actions of $L_n^{\mathfrak{g}:\mathfrak{p}}$ ($n \in \mathbb{Z}$). So, $V_\nu^{\mathfrak{g}:\mathfrak{p}}$ becomes a *Vir*-module. We call this module the *coset Virasoro module*. Notice that $L(\Lambda)$ is decomposed as a $Vir \oplus [\mathfrak{p}, \mathfrak{p}]$ -module into

$$L(\Lambda) = \bigoplus_{\nu \in \dot{\mathfrak{h}}^* \oplus \mathbb{C}\dot{\delta} \text{ mod } \mathbb{C}\dot{\delta}} (V_\nu^{\mathfrak{g}:\mathfrak{p}} \otimes \dot{L}(\nu)), \tag{7}$$

where $\dot{L}(\nu)$ is the irreducible $[\mathfrak{p}, \mathfrak{p}]$ -module with highest weight ν and $\dot{\delta}$ is identified with \dot{K} via the non-degenerate bilinear form on \mathfrak{p} . From (7), we define a function

$$c_v^\Lambda(q) = \text{Tr}_{V_{\mathfrak{g};\mathfrak{p}}} q^{-d} = \sum_{j \in \mathbb{Z}_{\geq 0}} \text{mult}_\Lambda(\nu - j\dot{\delta}; \mathfrak{p}) q^j \quad (q = e^{-\delta}), \tag{8}$$

where the multiplicity is defined as in ([6], Section 1.6). The function (8) is called the *string function*. Using the string function (8), the decomposition (7) yields the following formula for the character of $L(\Lambda)$:

$$\text{ch} L(\Lambda) = \sum_{\nu \in \dot{\mathfrak{h}}^* \oplus \mathbb{C}\dot{\delta} \bmod \mathbb{C}\dot{\delta}} c_v^\Lambda(q) \text{ch} \dot{L}(\nu). \tag{9}$$

Let us now introduce the following numbers:

- $m_\Lambda = \frac{|\Lambda + \rho|^2}{2(m + h^\vee)} - \frac{|\rho|^2}{2h^\vee}$,
- $m_\nu = \frac{|\nu + \rho|^2}{2(m + h^\vee)} - \frac{|\rho|^2}{2h^\vee}$,

where ρ is the Weyl vector associated with \mathfrak{p} .

Then, we define the branching function as $b_v^\Lambda(\tau) = q^{m_\Lambda - m_\nu} c_v^\Lambda(q)$ for $q = e^{2\pi i \tau}$. By the strange formula and (4), we see that the branching function also can be written as $b_v^\Lambda(\tau) = q^{-\frac{1}{24}c_{\mathfrak{g};\mathfrak{p}}} \text{Tr}_{V_{\mathfrak{g};\mathfrak{p}}} q^{\ell_0}$ (see [11] (Chapter 12) for the strange formula).

Recall that the normalized character $\text{ch}' L(\Lambda)$ is defined as

$$\text{ch}' L(\Lambda) = e^{-m_\Lambda \delta} \text{ch} L(\Lambda).$$

Introducing the coordinate (τ, z, t) for $h = 2\pi i(-\tau d + z + tK) \in \mathfrak{h}$, we obtain that $\text{ch}'_{L(\Lambda)}(\tau, z, t) = q^{m_\Lambda} \text{ch}_{L(\Lambda)}(\tau, z, t)$. So, the Formula (9) can be rewritten as

$$\text{ch}'_{L(\Lambda)}(\tau, z, t) = \sum_{\nu \in \dot{\mathfrak{h}}^* \oplus \mathbb{C}\dot{\delta} \bmod \mathbb{C}\dot{\delta}} b_v^\Lambda(\tau) \text{ch}'_{\dot{L}(\nu)}(\tau, z, t).$$

4. Tensor Product Decompositions

In this section, we fix an affine Lie algebra $\mathfrak{g} = (\mathbb{C}[t, t^{-1}] \otimes \bar{\mathfrak{g}}) \oplus \mathbb{C}K \oplus \mathbb{C}d$ over a finite dimensional simple Lie algebra $\bar{\mathfrak{g}}$. We also fix a Cartan subalgebra $\bar{\mathfrak{h}}$ of $\bar{\mathfrak{g}}$. For $\lambda, \mu \in \mathfrak{h}^*$, let $L(\lambda)$ and $L(\mu)$ be irreducible highest weight modules over \mathfrak{g} . We denote by π_λ and π_μ the representations of \mathfrak{g} on $L(\lambda)$ and $L(\mu)$, respectively. Put $m = \lambda(K)$ and $m' = \mu(K)$. Assume that $m + h^\vee \neq 0$, $m' + h^\vee \neq 0$ and $m + m' + h^\vee \neq 0$. It follows from (2) that the Virasoro algebra Vir acts on $L(\lambda)$ and $L(\mu)$. The corresponding Virasoro fields are

$$L^\lambda(z) = \frac{1}{2(m + h^\vee)} \sum_{i=1}^{\dim \bar{\mathfrak{g}}} : \pi_\lambda(u_i(z)) \pi_\lambda(u^i(z)) :$$

and

$$L^\mu(z) = \frac{1}{2(m' + h^\vee)} \sum_{i=1}^{\dim \bar{\mathfrak{g}}} : \pi_\mu(u_i(z)) \pi_\mu(u^i(z)) :.$$

Notice that the Virasoro algebra Vir acts on $L(\lambda) \otimes L(\mu)$ via the tensor product action

$$L^{\lambda, \mu}(z) = L^\lambda(z) \otimes \text{Id}_{L(\mu)} + \text{Id}_{L(\lambda)} \otimes L^\mu(z)$$

with the central charge $\frac{m \dim \bar{\mathfrak{g}}}{m + h^\vee} + \frac{m' \dim \bar{\mathfrak{g}}}{m' + h^\vee}$.

On the other hand, we may consider the whole tensor product $L(\lambda) \otimes L(\mu)$ as the highest weight \mathfrak{g} -module. Applying (2) to the highest weight \mathfrak{g} -module $L(\lambda) \otimes L(\mu)$, we get the associated Virasoro field

$$L^{\lambda \otimes \mu}(z) = \frac{1}{2(m+m'+h^\vee)} \sum_{i=1}^{dim \bar{\mathfrak{g}}} (\pi_\lambda \otimes \pi_\mu)(u_i(z)) (\pi_\lambda \otimes \pi_\mu)(u^i(z))$$

with the central charge $\frac{(m+m')dim \bar{\mathfrak{g}}}{m+m'+h^\vee}$.

Using (3), we have

$$\begin{aligned} [L_m^{\lambda, \mu}, t^n \otimes X] &= -nt^{n+m} \otimes X \quad (X \in \bar{\mathfrak{g}}, m \in \mathbb{Z} - \{0\}, n \in \mathbb{Z}), \\ [L_m^{\lambda \otimes \mu}, t^n \otimes X] &= -nt^{n+m} \otimes X \quad (X \in \bar{\mathfrak{g}}, m \in \mathbb{Z} - \{0\}, n \in \mathbb{Z}). \end{aligned} \tag{10}$$

Set $\tilde{L}(z) = L^{\lambda, \mu}(z) - L^{\lambda \otimes \mu}(z) = \sum_{n \in \mathbb{Z}} \tilde{L}_n z^{-n-2}$. According to ([15], Proposition 10.3), the field $\tilde{L}(z)$ yields the coset Virasoro field on $L(\lambda) \otimes L(\mu)$ with central charge $\frac{m dim \bar{\mathfrak{g}}}{m+h^\vee} + \frac{m' dim \bar{\mathfrak{g}}}{m'+h^\vee} - \frac{(m+m') dim \bar{\mathfrak{g}}}{m+m'+h^\vee}$.

For $\mu \in \bar{\mathfrak{h}}^* \oplus \mathbb{C}\delta$, we define

$$V_\mu^{\lambda, \mu} = \{v \in L(\lambda) \otimes L(\mu) \mid Xv = 0 \ (\forall x \in \mathfrak{g}_+), Hv = \mu(H)v \ (\forall H \in \bar{\mathfrak{h}} \oplus \mathbb{C}K)\}.$$

It follows from (10) that the space $V_\mu^{\lambda, \mu}$ becomes a *Vir*-module via the coset Virasoro field $\tilde{L}(z)$. Notice that $L(\lambda) \otimes L(\mu)$ is decomposed as a $Vir \oplus [\mathfrak{g}, \mathfrak{g}]$ -module into

$$L(\lambda) \otimes L(\mu) = \sum_{\mu \in \bar{\mathfrak{h}}^* \oplus \mathbb{C}\delta \text{ mod } \mathbb{C}\delta} V_\mu^{\lambda, \mu} \otimes L(\mu). \tag{11}$$

We obtain from (11) a string function

$$c_v^{\lambda \otimes \mu}(q) = Tr_{V_\mu^{\lambda, \mu}} q^{-d} = \sum_{j \in \mathbb{Z}_{\geq 0}} \text{mult}_{\lambda \otimes \mu}(\mu - j\delta; \mathfrak{g}) q^j. \tag{12}$$

Using (11) and (12), we get

$$ch(\lambda) ch(\mu) = \sum_{\mu \in \bar{\mathfrak{h}}^* \oplus \mathbb{C}\delta \text{ mod } \mathbb{C}\delta} c_v^{\lambda \otimes \mu}(q) chL(v). \tag{13}$$

If we define the normalized branching function by

$$b_v^{\lambda \otimes \mu}(\tau) = q^{m_\lambda + m_\mu - m_v} c_v^{\lambda \otimes \mu}(q),$$

then the Formula (13) yields

$$ch'_{L(\lambda)}(\tau, z, t) ch'_{L(\mu)}(\tau, z, t) = \sum_v b_v^{\lambda \otimes \mu}(\tau) ch'_{L(v)}(\tau, z, t). \tag{14}$$

Let Λ be a dominant integral weight and μ a principal admissible weight of the affine Lie algebra \mathfrak{g} . Then, the branching function of the tensor product $L(\Lambda) \otimes L(\mu)$ can be expressed in terms of the string functions of $L(\Lambda)$ as follows.

Theorem 3. Let \mathfrak{g} be any affine Lie algebra and $m \in \mathbb{Z}_{\geq 0}$. Let $m' = \frac{v}{u}$ with $u \in \mathbb{Z}_{\geq 1}$, $v \in \mathbb{Z}$ and $\text{gcd}(u, v) = 1$. Assume that Λ and μ^0 are dominant integral weights of level m and $u(m' + h^\vee) - h^\vee$,

respectively. Write $\tilde{c}_\xi^\Lambda(q)$ for the modified string function $q^{m\Lambda - \frac{|\mathfrak{g}|^2}{2m} c_{\xi,(\mathfrak{g};\mathfrak{g})}^\Lambda(q)}$ for $\xi \in \bar{\mathfrak{h}}^* \oplus \mathbb{C}\delta$, where $c_{\xi,(\mathfrak{g};\mathfrak{g})}^\Lambda(q)$ is the string function defined with respect to the pair $(\mathfrak{g}; \mathfrak{g})$ (i.e., $\mathfrak{p} = \mathfrak{g}$ in (8)). Then, for a principal admissible weight $\mu = y(\mu^0 - (u-1)(m' + h^\vee)\Lambda_0 + \rho) - \rho \in P_{u,y}^{m'}$, the following formula holds:

$$ch'_{L(\Lambda)}(\tau, z, t) ch'_{L(\mu)}(\tau, z, t) = \sum_{v \in P_{u,y}^{m+m'} \text{ s.t. } v \equiv \Lambda + \mu \pmod{Q}} b_v^{\Lambda \otimes \mu}(\tau) ch'_{L(v)}(\tau, z, t),$$

where

$$b_v^{\Lambda \otimes \mu}(\tau) = \sum_{w \in W} \epsilon(w) q^{\frac{(m'+h^\vee)(m+m'+h^\vee)}{2m} \left| \frac{w(v^0+\rho)}{m+m'+h^\vee} - \frac{\mu^0+\rho}{m'+h^\vee} \right|^2} \tilde{c}_{y(w(v^0+\rho) - (\mu^0+\rho) - (u-1)m\Lambda_0)}^\Lambda(q).$$

Proof. See ([9], Theorem 3.1). \square

In the next section, we simply write $\tilde{c}_\lambda^\Lambda$ for $\tilde{c}_\lambda^\Lambda(q)$ if no confusion seems likely to arise, and will calculate explicitly the branching functions for some specific cases.

5. Explicit Calculations of Branching Functions

Let Λ_0 and Λ_1 be the fundamental weights of $\widehat{\mathfrak{sl}}_2$, and λ a principal admissible weight of $\widehat{\mathfrak{sl}}_2$. In this section, we explicitly calculate the branching functions arising from the tensor product decompositions of $(L(2\Lambda_0) \oplus L(2\Lambda_1)) \otimes L(\lambda)$ and $L(\rho) \otimes L(\lambda)$.

Let us write $\Pi = \{\alpha\}$ for the simple root system of \mathfrak{sl}_2 . Then it is easy to check

$$h^\vee = 2, \rho = \Lambda_0 + \Lambda_1 = \bar{\rho} + h^\vee \Lambda_0 \text{ and } \Lambda_1 = \Lambda_0 + \frac{1}{2}\alpha \tag{15}$$

for $\widehat{\mathfrak{sl}}_2$. Let $m = \frac{v}{u}$ ($u \in 2\mathbb{Z}_{\geq 1}, v \in 2\mathbb{Z} + 1$), and choose a principal admissible weight λ of level m satisfying $\lambda = \lambda^0 - (u-1)(m+2)\Lambda_0 \in P_{u,1}^m$ for $\lambda^0 \in P_+^{u(m+2)-2}$ (see Theorems 1 and 2).

Applying Theorem 3 to the tensor product representations $L(2\Lambda_0) \otimes L(\lambda)$ and $L(2\Lambda_1) \otimes L(\lambda)$, we obtain

$$\begin{aligned} & ch'_{L(2\Lambda_0)}(\tau, z, t) ch'_{L(\lambda)}(\tau, z, t) \\ &= \sum_{v \in P_{u,1}^{m+2} \text{ s.t. } v \equiv 2\Lambda_0 + \lambda \pmod{Q}} b_v^{2\Lambda_0 \otimes \lambda}(\tau) ch'_{L(v)}(\tau, z, t), \end{aligned} \tag{16}$$

where

$$b_v^{2\Lambda_0 \otimes \lambda}(\tau) = \sum_{w \in W} \epsilon(w) q^{\frac{(m+2)(m+4)}{4} \left| \frac{w(v^0+\rho)}{m+4} - \frac{\lambda^0+\rho}{m+2} \right|^2} \tilde{c}_{w(v^0+\rho) - (\lambda^0+\rho) - 2(u-1)\Lambda_0}^{2\Lambda_0}$$

and

$$\begin{aligned} & ch'_{L(2\Lambda_1)}(\tau, z, t) ch'_{L(\lambda)}(\tau, z, t) \\ &= \sum_{\tilde{v} \in P_{u,1}^{m+2} \text{ s.t. } \tilde{v} \equiv 2\Lambda_1 + \lambda \pmod{Q}} b_{\tilde{v}}^{2\Lambda_1 \otimes \lambda}(\tau) ch'_{L(\tilde{v})}(\tau, z, t), \end{aligned} \tag{17}$$

where

$$b_{\tilde{v}}^{2\Lambda_1 \otimes \lambda}(\tau) = \sum_{w \in W} \epsilon(w) q^{\frac{(m+2)(m+4)}{4} \left| \frac{w(\tilde{v}^0+\rho)}{m+4} - \frac{\lambda^0+\rho}{m+2} \right|^2} \tilde{c}_{w(\tilde{v}^0+\rho) - (\lambda^0+\rho) - 2(u-1)\Lambda_0}^{2\Lambda_1}$$

Similarly, if we apply Theorem 3 to the tensor product representation $L(\rho) \otimes L(\lambda)$ then we have

$$\begin{aligned} & ch'_{L(\rho)}(\tau, z, t) ch'_{L(\lambda)}(\tau, z, t) \\ &= \sum_{\substack{v \in P_{u,1}^{m+2} \\ \text{s.t. } v \equiv \rho + \lambda \pmod{Q}}} b_v^{\rho \otimes \lambda}(\tau) ch'_{L(v)}(\tau, z, t), \end{aligned} \tag{18}$$

where

$$b_v^{\rho \otimes \lambda}(\tau) = \sum_{w \in W} \epsilon(w) q^{\frac{(m+2)(m+4)}{4} \left| \frac{w(v^0 + \rho)}{m+4} - \frac{\lambda^0 + \rho}{m+2} \right|^2} \tilde{c}_{w(v^0 + \rho) - (\lambda^0 + \rho) - 2(u-1)\Lambda_0}^\rho.$$

For $\lambda^0 \in P_+^{u(m+2)-2}$ and $\nu^0 \in P_+^{u(m+4)-2}$, let us write

$$\begin{aligned} \lambda^0 &= (u(m+2) - 2 - n) \Lambda_0 + n \Lambda_1, \\ \nu^0 &= (u(m+4) - 2 - n') \Lambda_0 + n' \Lambda_1 \end{aligned} \tag{19}$$

for some $n \in \mathbb{Z}$ and $n' \in \mathbb{Z}$. Then, we can rewrite λ and ν in (16) as

$$\lambda = \lambda^0 - (u-1)(m+2)\Lambda_0 = (m-n)\Lambda_0 + n\Lambda_1$$

and

$$\nu = \nu^0 - (u-1)(m+4)\Lambda_0 = (m-n'+2)\Lambda_0 + n'\Lambda_1.$$

Since $2\Lambda_0 - (\nu - \lambda) \in Q$ and $2\Lambda_1 - 2\Lambda_0 = \alpha$, we should have $n \equiv n' \pmod{2}$.

Similarly, for $\tilde{\nu}^0 = (u(m+4) - 2 - n'') \Lambda_0 + n'' \Lambda_1 \in P_+^{u(m+4)-2}$, we obtain $\tilde{\nu} = (m - n'' + 2) \Lambda_0 + n'' \Lambda_1$ ($n'' \in \mathbb{Z}$). From the condition $2\Lambda_1 - (\tilde{\nu} - \lambda) \in \mathbb{Z}\alpha$, we have the same condition $n \equiv n'' \pmod{2}$ as the case of ν . For this reason, we shall identify $\tilde{\nu}$ with ν in the following Theorem 4. The same argument yields that the condition $\nu \equiv \rho + \lambda \pmod{Q}$ in (18) is equivalent to the condition $n' \equiv n + 1 \pmod{2}$ in (19).

Theorem 4. Let $m = \frac{v}{u}$ for $u \in 2\mathbb{Z}_{\geq 1}$ and $v \in 2\mathbb{Z} + 1$, and let $p = u(m+4)$ and $p' = u(m+2)$.

1. Suppose that

$$\lambda^0 = (u(m+2) - 2 - n) \Lambda_0 + n \Lambda_1$$

and

$$\nu^0 = (u(m+2) - 2 - n') \Lambda_0 + n' \Lambda_1$$

for some $n \in 4\mathbb{Z}$ and $n' \in \mathbb{Z}$ satisfying $n \equiv n' \pmod{2}$. Then, the branching functions in (16) and (17) are explicitly given by

$$\begin{aligned} b_v^{2\Lambda_0 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 A \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 B \end{aligned} \tag{20}$$

and

$$\begin{aligned}
 b_v^{2\Lambda_1 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 B \\
 &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 A,
 \end{aligned}
 \tag{21}$$

where $\begin{cases} A = \tilde{c}_{2\Lambda_0}^{2\Lambda_0}, B = \tilde{c}_{2\Lambda_1}^{2\Lambda_0} & \text{if } n' \equiv 0 \pmod{4} \\ A = \tilde{c}_{2\Lambda_1}^{2\Lambda_0}, B = \tilde{c}_{2\Lambda_0}^{2\Lambda_0} & \text{if } n' \equiv 2 \pmod{4}. \end{cases}$

2. Assume that

$$\lambda^0 = (u(m+2) - 2 - n)\Lambda_0 + n\Lambda_1$$

and

$$\nu^0 = (u(m+2) - 2 - n')\Lambda_0 + n'\Lambda_1$$

for some $n \in 4\mathbb{Z}$ and $n' \in 4\mathbb{Z} + 1$. Then, the branching function in (18) is explicitly given by

$$\begin{aligned}
 &b_v^{\rho \otimes \lambda}(\tau) \\
 &= \sum_{j \in \mathbb{Z}} \left(q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 - q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 \right) \tilde{c}_\rho^0.
 \end{aligned}
 \tag{22}$$

Proof. We first prove (20) and (21).

Recall that the Weyl group W of $\widehat{\mathfrak{sl}}_2$ is given by $\{t_{j\alpha}, t_{j\alpha}r_\alpha \mid j \in \mathbb{Z}\}$.

By (15) and (19), we have

$$\nu^0 + \rho = u(m+4)\Lambda_0 + \frac{n'+1}{2}\alpha$$

and

$$\lambda^0 + \rho = u(m+2)\Lambda_0 + \frac{n+1}{2}\alpha.$$

So, we get

$$\begin{aligned}
 &t_{j\alpha}(\nu^0 + \rho) - (\lambda^0 + \rho) - 2(u-1)\Lambda_0 \\
 &= 2\Lambda_0 + \left(u(m+4)j + \frac{n'-n}{2} \right) \alpha - (u(m+4)j^2 + (n'+1)j) \delta
 \end{aligned}
 \tag{23}$$

and

$$\begin{aligned}
 &t_{j\alpha}r_\alpha(\nu^0 + \rho) - (\lambda^0 + \rho) - 2(u-1)\Lambda_0 \\
 &= 2\Lambda_0 + \left(u(m+4)j - \frac{n'+n+2}{2} \right) \alpha + (u(m+4)j^2 - (n'+1)j) \delta.
 \end{aligned}
 \tag{24}$$

Notice from ([11], (12.7.9)) that we have

$$\tilde{c}_{w(\lambda') + 2\gamma + a\delta}^{2\Lambda_0} = \tilde{c}_{\lambda'}^{2\Lambda_0} \tag{25}$$

for $\lambda' \in \mathfrak{h}^*$, $w \in \overline{W}$, $\gamma \in \mathbb{Z}\alpha$ and $a \in \mathbb{C}$. Since $\overline{W} = \{1, r_\alpha\}$, we see from (25) that

$$\tilde{c}_{\lambda + (2n+1)\alpha + a\delta}^{2\Lambda_0} = \tilde{c}_{(\lambda+\alpha) + 2n\alpha + a\delta}^{2\Lambda_0} = \tilde{c}_{\lambda+\alpha}^{2\Lambda_0}$$

and

$$\tilde{c}_{r_\alpha(\lambda)+(2n+1)\alpha+a\delta}^{2\Lambda_0} = \tilde{c}_{r_\alpha(\lambda+\alpha)+(2n+2)\alpha+a\delta}^{2\Lambda_0} = \tilde{c}_{\lambda+\alpha}^{2\Lambda_0}.$$

Hence, in any case we obtain

$$\tilde{c}_{w(\lambda)+(2n+1)\alpha+a\delta}^{2\Lambda_0} = \tilde{c}_{\lambda+\alpha}^{2\Lambda_0} \tag{26}$$

for $w \in \overline{W}$. Since u is even, we have

$$u(m+4)j + \frac{n' - n}{2} \equiv \frac{n' - n}{2} \pmod{2}$$

and

$$u(m+4)j - \frac{n' + n + 2}{2} \equiv -\frac{n' + n + 2}{2} \pmod{2}.$$

Since $n \in 4\mathbb{Z}$ and $n \equiv n' \pmod{2}$, we obtain $n' \equiv 0 \pmod{4}$ or $n' \equiv 2 \pmod{4}$. If $n' \equiv 0 \pmod{4}$, then $\frac{n'-n}{2} \equiv 0 \pmod{2}$ and $-\frac{n'+n+2}{2} \equiv 1 \pmod{2}$. Thus, by (23), (24), (25) and (26) we get

$$\tilde{c}_{t_{j\alpha}(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_0} = \tilde{c}_{2\Lambda_0}^{2\Lambda_0} \tag{27}$$

and

$$\tilde{c}_{t_{j\alpha}r_\alpha(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_0} = \tilde{c}_{2\Lambda_0+\alpha}^{2\Lambda_0} = \tilde{c}_{2\Lambda_1}^{2\Lambda_0}. \tag{28}$$

Similarly, if $n' \equiv 2 \pmod{4}$, then $\frac{n'-n}{2} \equiv 1 \pmod{2}$ and $-\frac{n'+n+2}{2} \equiv 0 \pmod{2}$. So, in this case we have

$$\tilde{c}_{t_{j\alpha}(\lambda^0+\rho)-(\mu^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_0} = \tilde{c}_{2\Lambda_0+\alpha}^{2\Lambda_0} = \tilde{c}_{2\Lambda_1}^{2\Lambda_0} \tag{29}$$

and

$$\tilde{c}_{t_{j\alpha}r_\alpha(\lambda^0+\rho)-(\mu^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_0} = \tilde{c}_{2\Lambda_0}^{2\Lambda_0}. \tag{30}$$

We now compute the exponent $\frac{(m+2)(m+4)}{4} \left| \frac{w(v^0+\rho)}{m+4} - \frac{\lambda^0+\rho}{m+2} \right|^2$ of q in (16) and (17).

Since $p = u(m+4)$ in assumption, we see that

$$t_{j\alpha}(v^0+\rho) = p\Lambda_0 + \left(pj + \frac{n'+1}{2} \right) \alpha - (pj^2 + (n'+1)j) \delta. \tag{31}$$

and

$$t_{j\alpha}r_\alpha(v^0+\rho) = p\Lambda_0 + \left(pj - \frac{n'+1}{2} \right) \alpha - (pj^2 - (n'+1)j) \delta. \tag{32}$$

It also follows from the assumption $p' = u(m+2)$ that

$$\begin{aligned} & \frac{(m+2)(m+4)}{4} \left| \frac{w(v^0+\rho)}{m+4} - \frac{\lambda^0+\rho}{m+2} \right|^2 \\ &= \frac{u^2(m+2)(m+4)}{4} \left| \frac{w(v^0+\rho)}{u(m+4)} - \frac{\lambda^0+\rho}{u(m+2)} \right|^2 \\ &= \frac{pp'}{4} \left| \frac{w(v^0+\rho)}{p} - \frac{\lambda^0+\rho}{p'} \right|^2. \end{aligned} \tag{33}$$

Notice from (31) and (32) that

$$\begin{aligned} & \frac{t_{j\alpha}(v^0 + \rho)}{p} - \frac{\lambda^0 + \rho}{p'} \\ &= \left(\Lambda_0 + \left(j + \frac{n'+1}{2p} \right) \alpha \right) - \frac{1}{p'} \left(p' \Lambda_0 + \frac{n+1}{2} \alpha \right) \pmod{\mathbb{C}\delta} \\ &= \left(j + \frac{n'+1}{2p} - \frac{n+1}{2p'} \right) \alpha \pmod{\mathbb{C}\delta} \end{aligned}$$

and

$$\begin{aligned} & \frac{t_{j\alpha r_\alpha}(v^0 + \rho)}{p} - \frac{\lambda^0 + \rho}{p'} \\ &= \left(\Lambda_0 + \left(j - \frac{n'+1}{2p} \right) \alpha \right) - \frac{1}{p'} \left(p' \Lambda_0 + \frac{n+1}{2} \alpha \right) \pmod{\mathbb{C}\delta} \\ &= \left(j - \frac{n'+1}{2p} - \frac{n+1}{2p'} \right) \alpha \pmod{\mathbb{C}\delta}. \end{aligned}$$

Thus, we obtain

$$\begin{aligned} \left| \frac{t_{j\alpha}(v^0 + \rho)}{p} - \frac{\lambda^0 + \rho}{p'} \right|^2 &= \frac{1}{2(p p')^2} \left(2p p' j + (n'+1)p' - (n+1)p \right)^2, \\ \left| \frac{t_{j\alpha r_\alpha}(v^0 + \rho)}{p} - \frac{\lambda^0 + \rho}{p'} \right|^2 &= \frac{1}{2(p p')^2} \left(2p p' j - (n'+1)p' - (n+1)p \right)^2. \end{aligned} \tag{34}$$

Hence, if $n' \equiv 0 \pmod{4}$, then we obtain from (27), (28), (33) and (34) that

$$\begin{aligned} b_v^{2\Lambda_0 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} \left(2p p' j + (n'+1)p' - (n+1)p \right)^2 \tilde{c}_{2\Lambda_0}^{2\Lambda_0} \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} \left(2p p' j - (n'+1)p' - (n+1)p \right)^2 \tilde{c}_{2\Lambda_1}^{2\Lambda_0}. \end{aligned}$$

If $n' \equiv 2 \pmod{4}$ then we also obtain from (29), (30), (33) and (34)

$$\begin{aligned} b_v^{2\Lambda_0 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} \left(2p p' j + (n'+1)p' - (n+1)p \right)^2 \tilde{c}_{2\Lambda_1}^{2\Lambda_0} \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} \left(2p p' j - (n'+1)p' - (n+1)p \right)^2 \tilde{c}_{2\Lambda_0}^{2\Lambda_0}. \end{aligned}$$

The Formula (20) now follows.

Applying the same argument as above to the case of $b_v^{2\Lambda_1 \otimes \lambda}(\tau)$, we obtain

$$\begin{cases} \tilde{c}_{t_{j\alpha}(v^0 + \rho) - (\lambda^0 + \rho) - 2(u-1)\Lambda_0}^{2\Lambda_1} = \tilde{c}_{2\Lambda_0}^{2\Lambda_1} & \text{if } n' \equiv 0 \pmod{4} \\ \tilde{c}_{t_{j\alpha r_\alpha}(v^0 + \rho) - (\lambda^0 + \rho) - 2(u-1)\Lambda_0}^{2\Lambda_1} = \tilde{c}_{2\Lambda_1}^{2\Lambda_1} & \text{if } n' \equiv 0 \pmod{4}. \end{cases} \tag{35}$$

and

$$\begin{cases} \tilde{c}_{t_{j\alpha}(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_1} = \tilde{c}_{2\Lambda_1}^{2\Lambda_1} & \text{if } n' \equiv 2 \pmod{4} \\ \tilde{c}_{t_{j\alpha}r_\alpha(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^{2\Lambda_1} = \tilde{c}_{2\Lambda_0}^{2\Lambda_1} & \text{if } n' \equiv 2 \pmod{4}. \end{cases} \tag{36}$$

Notice that we have $\tilde{c}_{m\Lambda_0+n\Lambda_1}^{M\Lambda_0+N\Lambda_1} = \tilde{c}_{n\Lambda_0+m\Lambda_1}^{N\Lambda_0+M\Lambda_1}$ due to the outer automorphism of $\widehat{\mathfrak{sl}}_2$.

Hence, we obtain that

$$\tilde{c}_{2\Lambda_0}^{2\Lambda_1} = \tilde{c}_{2\Lambda_1}^{2\Lambda_0} \text{ and } \tilde{c}_{2\Lambda_1}^{2\Lambda_1} = \tilde{c}_{2\Lambda_0}^{2\Lambda_0} \tag{37}$$

Therefore, if $n' \equiv 0 \pmod{4}$ then we get from (35), (36), (33), (34) and (37) that

$$\begin{aligned} b_v^{2\Lambda_1 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 \tilde{c}_{2\Lambda_1}^{2\Lambda_0} \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 \tilde{c}_{2\Lambda_0}^{2\Lambda_0}. \end{aligned}$$

Similarly, if $n' \equiv 2 \pmod{4}$ then we obtain that

$$\begin{aligned} b_v^{2\Lambda_1 \otimes \lambda}(\tau) &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 \tilde{c}_{2\Lambda_0}^{2\Lambda_0} \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 \tilde{c}_{2\Lambda_1}^{2\Lambda_0}. \end{aligned}$$

The Formula (21) now follows.

Let us now prove (22).

The proof is exactly the same as those of (20) and (21) except for calculations of the string function $\tilde{c}_{w(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^\rho$. Recall from the assumption that $n \in 4\mathbb{Z}$ and $n' \in 4\mathbb{Z} + 1$. Then, by (23)–(25) we obtain

$$\tilde{c}_{t_{j\alpha}(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^\rho = \tilde{c}_{2\Lambda_0 + \frac{n'-n}{2}\alpha}^\rho = \tilde{c}_{2\Lambda_0 + \frac{1}{2}\alpha}^\rho = \tilde{c}_\rho^\rho$$

and

$$\tilde{c}_{t_{j\alpha}r_\alpha(v^0+\rho)-(\lambda^0+\rho)-2(u-1)\Lambda_0}^\rho = \tilde{c}_{2\Lambda_0 - \frac{n'+n+2}{2}\alpha}^\rho = \tilde{c}_{2\Lambda_0 - 2\alpha + \frac{1}{2}\alpha}^\rho = \tilde{c}_\rho^\rho.$$

The result now follows. \square

It is immediate from Theorem 4 that the branching function of $(L(2\Lambda_0) \oplus L(2\Lambda_1)) \otimes L(\lambda)$ for $\widehat{\mathfrak{sl}}_2$ is given by

$$\begin{aligned} &b_v^{2\Lambda_0 \otimes \lambda}(\tau) + b_v^{2\Lambda_1 \otimes \lambda}(\tau) \\ &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + (n'+1)p' - (n+1)p)^2 (\tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_1}^{2\Lambda_0}) \\ &\quad - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j - (n'+1)p' - (n+1)p)^2 (\tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_1}^{2\Lambda_0}). \end{aligned}$$

In the following theorem, we explicitly calculate $\tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_1}^{2\Lambda_0}$ and \tilde{c}_ρ^ρ in terms of the Dedekind eta function.

Theorem 5. $\tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_1}^{2\Lambda_0} = \frac{\eta(\tau)}{\eta(\frac{\tau}{2})\eta(2\tau)}$ and $\tilde{c}_\rho^\rho = \frac{\eta(2\tau)}{\eta(\tau)^2}$, where $\eta(\tau) = q^{\frac{1}{24}} \prod_{n=1}^\infty (1 - q^n)$.

Proof. It follows from the Weyl-Kac character formula that

$$chL(2\Lambda_0) = \frac{1}{e^\rho R} \sum_{w \in W} \epsilon(w) e^{w(2\Lambda_0 + \rho)}, \tag{38}$$

where

$$W = \{t_{j\alpha}, t_{j\alpha}r_\alpha \mid j \in \mathbb{Z}\}$$

and

$$R = \prod_{n=1}^\infty (1 - q^n) (1 - e^{-\alpha} q^{n-1}) (1 - e^\alpha q^n).$$

Calculating $w(2\Lambda_0 + \rho)$ for $w \in W$, we obtain from (38)

$$chL(2\Lambda_0) = \frac{1}{e^\rho R} \left(\sum_{j \in \mathbb{Z}} e^{2\Lambda_0 + \rho + 4j\alpha - \frac{(4j)^2 + 4j}{4} \delta} - \sum_{j \in \mathbb{Z}} e^{2\Lambda_0 + \rho + (-4j-1)\alpha - \frac{(-4j-1)^2 + (-4j-1)}{4} \delta} \right). \tag{39}$$

Similarly, we can evaluate $chL(2\Lambda_1)$ as follows:

$$\frac{1}{e^\rho R} q^{-\frac{1}{2}} \left(\sum_{j \in \mathbb{Z}} e^{2\Lambda_0 + \rho + (4j+1)\alpha - \frac{(4j+1)^2 + (4j+1)}{4} \delta} - \sum_{j \in \mathbb{Z}} e^{2\Lambda_0 + \rho + (-4j-2)\alpha - \frac{(-4j-2)^2 + (-4j-2)}{4} \delta} \right). \tag{40}$$

Using (39), (40) and the Jacobi triple product identity, we have

$$\begin{aligned} & chL(2\Lambda_0) - q^{\frac{1}{2}} chL(2\Lambda_1) \\ &= \frac{1}{e^\rho R} \sum_{j \in \mathbb{Z}} (-1)^j e^{2\Lambda_0 + \rho + j\alpha - \frac{j^2 + j}{4} \delta} \\ &= \frac{e^{2\Lambda_0}}{R} \sum_{j \in \mathbb{Z}} (-1)^j e^{j\alpha} q^{\frac{j^2 + j}{4}} \\ &= \frac{e^{2\Lambda_0}}{R} \prod_{n=1}^\infty (1 - q^{\frac{n}{2}}) (1 - e^\alpha q^{\frac{n}{2}}) (1 - e^{-\alpha} q^{\frac{n-1}{2}}) \\ &= e^{2\Lambda_0} \prod_{n=1}^\infty (1 - q^{\frac{2n-1}{2}}) (1 - e^\alpha q^{\frac{2n-1}{2}}) (1 - e^{-\alpha} q^{\frac{2n-1}{2}}) \\ &= e^{2\Lambda_0} \prod_{n=1}^\infty \frac{1 - q^{n-\frac{1}{2}}}{1 - q^n} \prod_{n=1}^\infty (1 - q^n) (1 - e^\alpha q^{\frac{2n-1}{2}}) (1 - e^{-\alpha} q^{\frac{2n-1}{2}}) \\ &= e^{2\Lambda_0} \prod_{n=1}^\infty \frac{1 - q^{n-\frac{1}{2}}}{1 - q^n} \sum_{j \in \mathbb{Z}} (-1)^j e^{j\alpha} q^{\frac{j^2}{2}}. \end{aligned} \tag{41}$$

Recall from ([11], (12.7.1)) that

$$chL(2\Lambda_0) = \sum_{\lambda \in \max(2\Lambda_0)} c_\lambda^{2\Lambda_0} e^\lambda. \tag{42}$$

and

$$chL(2\Lambda_1) = \sum_{\lambda \in \max(2\Lambda_1)} c_\lambda^{2\Lambda_1} e^\lambda. \tag{43}$$

From (42) and (43), the coefficient of $e^{2\Lambda_0}$ in $chL(2\Lambda_0) - q^{\frac{1}{2}} chL(2\Lambda_1)$ should be equal to

$$c_{2\Lambda_0}^{2\Lambda_0} - q^{\frac{1}{2}} c_{2\Lambda_0}^{2\Lambda_1}. \tag{44}$$

Comparing (44) with the coefficient of $e^{2\Lambda_0}$ in (41), we obtain

$$c_{2\Lambda_0}^{2\Lambda_0} - q^{\frac{1}{2}} c_{2\Lambda_0}^{2\Lambda_1} = \prod_{n=1}^{\infty} \frac{1 - q^{n-\frac{1}{2}}}{1 - q^n}. \tag{45}$$

By substituting $x = q^{\frac{1}{2}}$, we obtain from (45)

$$c_{2\Lambda_0}^{2\Lambda_0} - x c_{2\Lambda_0}^{2\Lambda_1} = \prod_{n=1}^{\infty} \frac{1 - x^{2n-1}}{1 - x^{2n}}.$$

By letting $x \mapsto -x$, we get

$$c_{2\Lambda_0}^{2\Lambda_0} + x c_{2\Lambda_0}^{2\Lambda_1} = \prod_{n=1}^{\infty} \frac{1 + x^{2n-1}}{1 - x^{2n}},$$

and this implies

$$c_{2\Lambda_0}^{2\Lambda_0} + q^{\frac{1}{2}} c_{2\Lambda_0}^{2\Lambda_1} = \prod_{n=1}^{\infty} \frac{1 + q^{n-\frac{1}{2}}}{1 - q^n}. \tag{46}$$

On the other hand, it is easy to check that $m_{2\Lambda_0} - \frac{|2\Lambda_0|^2}{4} = -\frac{1}{16}$ and $m_{2\Lambda_1} - \frac{|2\Lambda_0|^2}{4} = \frac{7}{16}$, and these yield that $\tilde{c}_{2\Lambda_0}^{2\Lambda_0} = q^{-\frac{1}{16}} c_{2\Lambda_0}^{2\Lambda_0}$ and $\tilde{c}_{2\Lambda_0}^{2\Lambda_1} = q^{\frac{7}{16}} c_{2\Lambda_0}^{2\Lambda_1}$. So, (46) gives rise to

$$q^{\frac{1}{16}} \left(\tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_0}^{2\Lambda_1} \right) = \prod_{n=1}^{\infty} \frac{1 + q^{n-\frac{1}{2}}}{1 - q^n}. \tag{47}$$

Thus,

$$\begin{aligned} & \frac{\eta(\tau)}{\eta\left(\frac{\tau}{2}\right)\eta(2\tau)} \\ &= \frac{q^{-\frac{1}{16}}}{\prod_{n=1}^{\infty} \left(1 - q^{\frac{n}{2}}\right) \prod_{n=1}^{\infty} (1 + q^n)} \\ &= \frac{q^{-\frac{1}{16}} \prod_{n=1}^{\infty} \left(1 + q^{\frac{n}{2}}\right)}{\prod_{n=1}^{\infty} (1 - q^n) \prod_{n=1}^{\infty} (1 + q^n)} \\ &= \frac{q^{-\frac{1}{16}} \prod_{n=1}^{\infty} \left(1 + q^{n-\frac{1}{2}}\right)}{\prod_{n=1}^{\infty} (1 - q^n)} \\ &= \tilde{c}_{2\Lambda_0}^{2\Lambda_0} + \tilde{c}_{2\Lambda_0}^{2\Lambda_1} \text{ (see (47)).} \end{aligned}$$

Next, we compute \tilde{c}_{ρ}^{ρ} .

Replacing all positive roots α by $k\alpha$ ($k \in \mathbb{Z}_{\geq 1}$), we obtain from the denominator identity that

$$e^{k\rho} \prod_{\alpha \in \Delta_+} \left(1 - e^{-k\alpha}\right)^{\text{mult}(\alpha)} = \sum_{w \in W} \epsilon(w) e^{w(k\rho)}.$$

Thus, it follows from the Jacobi triple identity that

$$\begin{aligned}
 chL(\rho) &= \frac{1}{e^\rho R} \sum_{w \in W} \epsilon(w) e^{w(2\rho)} \\
 &= \frac{1}{e^\rho R} e^{2\rho} \prod_{\alpha \in \Delta_+} (1 - e^{-2\alpha})^{\text{mult}(\alpha)} \\
 &= e^\rho \prod_{j=1}^\infty \frac{(1 - q^{2j}) (1 - e^{-2\alpha} q^{2(j-1)}) (1 - e^{2\alpha} q^{2j})}{(1 - q^j) (1 - e^{-\alpha} q^{(j-1)}) (1 - e^\alpha q^j)} \quad (q = e^{-\delta}) \\
 &= e^\rho \prod_{j=1}^\infty \frac{(1 + q^j)}{(1 - q^j)} \prod_{j=1}^\infty (1 - q^j) (1 + e^{-\alpha} q^{(j-1)}) (1 + e^\alpha q^j) \\
 &= \prod_{j=1}^\infty \frac{(1 + q^j)}{(1 - q^j)} \sum_{j \in \mathbb{Z}} e^{\rho - j\alpha} q^{\frac{j^2 - j}{2}} \\
 &= \prod_{j=1}^\infty \frac{(1 + q^j)}{(1 - q^j)} \sum_{j \in \mathbb{Z}} e^{\rho - j\alpha - \frac{j^2 - j}{2} \delta}.
 \end{aligned}
 \tag{48}$$

On the other hand, we get from ([11], (12.7.1)) that

$$chL(\rho) = \sum_{\lambda \in \max(\rho)} c_\lambda^\rho e^\lambda. \tag{49}$$

Comparing the coefficients of e^ρ in (48) and (49), we have

$$c_\rho^\rho = \prod_{j=1}^\infty \frac{1 + q^j}{1 - q^j}.$$

Moreover, it is easy to check $m_\rho - \frac{|\rho|^2}{4} = 0$ which implies $\tilde{c}_\rho^\rho = c_\rho^\rho$.

The result now follows. \square

6. Super-Virasoro algebras

In this section, we shall investigate relationships between our results on branching functions and the representation theory of super-Virasoro algebras. As by-products, we generalize the tensor product decomposition formulas ([6], (4.1.2a) and (4.1.2b)) to the case of principal admissible weights.

Let us first review the theta functions associated to an affine Lie algebra $\mathfrak{g} = \mathbb{C}[t, t^{-1}] \otimes \bar{\mathfrak{g}} \oplus \mathbb{C}K \oplus \mathbb{C}d$ and its Cartan subalgebra \mathfrak{h} .

For $\lambda \in P^m$ ($m \in \mathbb{Z}_{\geq 0}$), the theta function θ_λ is defined as

$$\theta_\lambda = e^{-\frac{|\lambda|^2}{2m} \delta} \sum_{\alpha \in \bar{Q}} e^{t_\alpha \lambda},$$

where \bar{Q} is the root lattice of $\bar{\mathfrak{g}}$. Using the coordinate (τ, z, t) for the Cartan subalgebra \mathfrak{h} , we get

$$\theta_\lambda(\tau, z, t) = e^{2\pi i m t} \sum_{\gamma \in \bar{Q} + \frac{\bar{\lambda}}{m}} q^{\frac{m}{2} |\gamma|^2} e^{2\pi i m(\gamma|z)},$$

where $\bar{\lambda}$ is the projection of λ onto $\bar{\mathfrak{h}}$.

In particular, if we take $\lambda = md + \frac{1}{2}n\alpha + rK \in P^m$ for $\mathfrak{g} = \widehat{\mathfrak{sl}}_2$ then the corresponding theta function is

$$\theta_\lambda(\tau, z, t) = e^{2\pi i m t} \sum_{k \in \mathbb{Z} + \frac{n}{m}} q^{mk^2} e^{2\pi i m(k\alpha|z)}. \tag{50}$$

Evaluating (50) at $(\tau, 0, 0)$, we have

$$\theta(\tau, 0, 0) = \sum_{j \in \mathbb{Z}} q^{m(j + \frac{n}{2m})^2} \left(q = e^{2\pi i \tau} \right). \tag{51}$$

For convenience, we shall simply write $\theta_{n,m}$ for (51) in the remaining part of this section.

Next, we review the super-Virasoro algebras Vir_ϵ ($\epsilon = 0, \frac{1}{2}$). (For $\epsilon = 0$ or $\frac{1}{2}$, Vir_ϵ is called the *Ramond* and *Neveu-Schwarz* superalgebra, respectively.)

The super-Virasoro algebra Vir_ϵ is the complex superalgebra with a basis $\{c, \ell_j, g_m | j \in \mathbb{Z} \text{ and } m \in \epsilon + \mathbb{Z}\}$, and it satisfies commutation relations

1. $[\ell_i, \ell_j] = (i - j)\ell_{i+j} + \frac{1}{12}(i^3 - i)\delta_{i+j,0}c,$
2. $[c, \ell_j] = 0,$
3. $[g_m, \ell_n] = (m - \frac{n}{2})g_{m+n},$
4. $[g_m, c] = 0,$
5. $\{g_m, g_n\} = 2\ell_{m+n} + \frac{1}{3}(m^2 - \frac{1}{4})\delta_{m+n,0}c,$

where $\{, \}$ denotes an anti-commutator bracket between two odd elements.

Recall that every minimal series irreducible module of Vir_ϵ corresponds to the pair of numbers $\left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right)$. Here, $z^{(p,p')}$ is the central charge equals $z^{(p,p')} = \frac{3}{2} \left(1 - \frac{2(p-p')^2}{pp'} \right)$, and $h_{r,s;\epsilon}^{(p,p')}$

is the minimal eigenvalue of ℓ_0 equals $h_{r,s;\epsilon}^{(p,p')} = \frac{(pr-p's)^2 - (p-p')^2}{8pp'} + \frac{1}{16}(1 - 2\epsilon)$ for $p, p', r, s \in \mathbb{Z}$, $2 \leq p' < p$, $p - p' \in 2\mathbb{Z}$, $\gcd\left(\frac{p-p'}{2}, p'\right) = 1$, $1 \leq r \leq p' - 1$, $1 \leq s \leq p - 1$ and $r - s \in 2\mathbb{Z}$ (we refer to ([16], Theorem 5.2) for the details).

Write $V_\epsilon \left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right)$ for the minimal series module over Vir_ϵ corresponding to $\left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right)$. According to [17,18], it follows that

$$chV_\epsilon \left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right) = q^{\frac{1}{24}z^{(p,p')}} \eta_\epsilon(\tau) \left(\theta_{\frac{pr-p's}{2}, \frac{pp'}{2}} - \theta_{\frac{pr+p's}{2}, \frac{pp'}{2}} \right),$$

where $\eta_\epsilon(\tau) = \begin{cases} \frac{\eta(2\tau)}{\eta(\tau)^2} & \text{if } \epsilon = 0 \\ \frac{\eta(\tau)}{\eta(\frac{\tau}{2})\eta(2\tau)} & \text{if } \epsilon = \frac{1}{2}. \end{cases}$

By (51), we see that

$$\begin{aligned} \theta_{\frac{pr-p's}{2}, \frac{pp'}{2}} &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}(2pp'j + pr - p's)^2}, \\ \theta_{\frac{pr+p's}{2}, \frac{pp'}{2}} &= \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}(2pp'j + pr + p's)^2}. \end{aligned}$$

So, the normalized character of $V_\epsilon \left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right)$ is

$$\begin{aligned} & \chi_{r,s;\epsilon}^{(p,p')}(\tau) \\ &= \eta_\epsilon(\tau) \left(\sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + pr - p's)^2 - \sum_{j \in \mathbb{Z}} q^{\frac{1}{8pp'}} (2pp'j + pr + p's)^2 \right), \end{aligned} \tag{52}$$

where $\chi_{r,s;\epsilon}^{(p,p')}(\tau) = q^{-\frac{1}{24}z} \text{ch} V_\epsilon \left(z^{(p,p')}, h_{r,s;\epsilon}^{(p,p')} \right)$.

Let $r = -(n + 1)$ and $s = (n' + 1)$ in (52). Then, by Theorem 4, Theorem 5 and (52), we obtain the following result.

Proposition 1. Let $m = \frac{v}{u}$ ($u \in 2\mathbb{Z}_{\geq 1}$, $v \in 2\mathbb{Z} + 1$). Suppose that λ is a principal admissible weight of $\widehat{\mathfrak{sl}}_2$ such that $\lambda = \lambda^0 - (u - 1)(m + 2)\Lambda_0 \in P_{u,1}^m$ for $\lambda^0 \in P_+^{u(m+2)-2}$. Then, the branching function $b_v^{2\Lambda_0 \otimes \lambda}(\tau) + b_v^{2\Lambda_1 \otimes \lambda}(\tau)$ (resp. $b_v^\rho(\tau)$) of $(L(2\Lambda_0) \oplus L(2\Lambda_1)) \otimes L(\lambda)$ (resp. $L(\rho) \otimes L(\lambda)$) is the same as the normalized character $\chi_{-(n+1),n'+1;\frac{1}{2}}^{(p,p')}(\tau)$ (resp. $\chi_{-(n+1),n'+1;0}^{(p,p')}(\tau)$) of the Neveu-Schwarz (resp. Ramond) superalgebra.

It follows from Section 4 that

$$(L(2\Lambda_0) \oplus L(2\Lambda_1)) \otimes L(\lambda) = \sum_v \left(V_v^{2\Lambda_0, \lambda} \oplus V_v^{2\Lambda_1, \lambda} \right) \otimes L(v) \tag{53}$$

and

$$L(\rho) \otimes L(\lambda) = \sum_{v'} V_{v'}^{\rho, \lambda} \otimes L(v'), \tag{54}$$

where v and v' are taken over $P_{u,1}^{m+2}$ such that $v \equiv 2\Lambda_0 + \lambda \pmod Q$ and $v' \equiv \rho + \lambda \pmod Q$, respectively.

According to [17] the coset Virasoro action introduced in Section 4 can be extended to the action of super-Virasoro algebras, and (53) and (54) can be considered as decompositions of $V_\epsilon \oplus [\mathfrak{g}, \mathfrak{g}]$ -module. Thus, (14) and Proposition 1 imply that $V_v^{2\Lambda_0} \oplus V_v^{2\Lambda_1}$ (resp. V_v^ρ) should be isomorphic to the minimal series module $V_{\frac{1}{2}} \left(z^{p,p'}, h_{-(n+1),n'+1;\frac{1}{2}}^{p,p'} \right)$ (resp. $V_0 \left(z^{p,p'}, h_{-(n+1),n'+1;0}^{p,p'} \right)$) as $Vir_{\frac{1}{2}}$ -modules (resp. Vir_0 -modules). Hence, we obtain the following theorem.

Theorem 6. Let m and λ be the same as Proposition 1. Then, we have

$$(L(2\Lambda_0) \oplus L(2\Lambda_1)) \otimes L(\lambda) = \sum_v V_{\frac{1}{2}} \left(z^{p,p'}, h_{-(n+1),n'+1;\frac{1}{2}}^{p,p'} \right) \otimes L(v)$$

and

$$L(\rho) \otimes L(\lambda) = \sum_{v'} V_0 \left(z^{p,p'}, h_{-(n+1),n'+1;0}^{p,p'} \right) \otimes L(v'),$$

where v and v' are taken over $P_{u,1}^{m+2}$ such that $v \equiv 2\Lambda_0 + \lambda \pmod Q$ and $v' \equiv \rho + \lambda \pmod Q$, respectively.

Funding: This research was supported by the Daegu University Research Grant, 2016.

Conflicts of Interest: The author declares no conflict of interest.

References

1. Friedan, D.; Qiu, Z.; Shenker, S. Conformal invariance, unitarity and critical exponents in two dimensions. *Phys. Rev. Lett.* **1984**, *52*, 1575–1578. [[CrossRef](#)]
2. Schwarz, J.H. Superstring theory. *Physics Rep.* **1982**, *83*, 223–322. [[CrossRef](#)]
3. Fulton, W.; Harris, J. *Representation Theory: A First Course*; Springer: Berlin/Heidelberg, Germany, 1991; Volume 129.
4. Frenkel, E.; Kac, V.G.; Wakimoto, M. Characters and fusion rules for W-algebras via quantized Drinfeld-Sokolov reduction. *Comm. Math. Phys.* **1992**, *147*, 295–328. [[CrossRef](#)]
5. Kac, V.G.; Wakimoto, M. Modular invariant representations of infinite-dimensional Lie algebras and superalgebras. *Proc. Natl. Acad. Sci. USA* **1988**, *85*, 4956–4960. [[CrossRef](#)] [[PubMed](#)]
6. Kac, V.G.; Wakimoto, M. Modular and conformal invariance constraints in representation theory of affine algebras. *Adv. Math.* **1988**, *70*, 156–236. [[CrossRef](#)]
7. Kac, V.G.; Wakimoto, M. Classification of modular invariant representations of affine algebras. In *Infinite-Dimensional Lie Algebras and Groups*; World Scientific: Singapore, 1989; Volume 7, pp. 138–177.
8. Kac, V.G.; Roan, S.S.; Wakimoto, M. Quantum reduction for affine superalgebras. *Comm. Math. Phys.* **2003**, *241*, 307–342. [[CrossRef](#)]
9. Kac, V.G.; Wakimoto, M. Branching functions for winding subalgebras and tensor products. *Acta. Appl. Math.* **1990**, *21*, 3–39. [[CrossRef](#)]
10. Kac, V.G.; Peterson, D.H. Infinite-dimensional Lie algebras, theta functions and modular forms. *Adv. Math.* **1984**, *53*, 125–264. [[CrossRef](#)]
11. Kac, V.G. *Infinite Dimensional Lie Algebras*, 3rd ed.; Cambridge University Press: Cambridge, UK, 1990.
12. Wakimoto, M. Infinite-Dimensional Lie Algebras; In *Translation of Mathematical Monographs*; American Mathematical Society: Providence, RI, USA, 2001; Volume 195.
13. Wakimoto, M. *Lectures on Infinite-Dimensional Lie Algebras*; World Scientific: Singapore, 2001.
14. Kac, V.G. *Vertex Algebras for Beginners*, 2nd ed.; American Mathematical Society: Providence, RI, USA, 1998.
15. Kac, V.G.; Raina, A.K. *Bombay Lectures on Highest Weight Representations*; World Scientific: Singapore, 1987.
16. Iohara, K.; Koga, Y. Representation theory of Neveu-Schwarz and Ramond algebra I: Verma modules. *Adv. Math.* **2003**, *178*, 1–65. [[CrossRef](#)]
17. Goddard, P.; Kent, A.; Olive, D. Unitary representations of the Virasoro and super-Virasoro algebras. *Commun. Math. Phys.* **1986**, *103*, 105–119. [[CrossRef](#)]
18. Kac, V.G.; Wakimoto, M. Unitarizable Highest Weight Representations of the Virasoro, Neveu-Schwarz and Ramond Algebras. In *Proceedings of the Symposium on Conformal Groups and Structures, Lecture Notes in Physics*, Clausthal, Germany, 12–14 August 1985; Barut, A.O., Doebner, H.D., Eds.; Springer: Berlin/Heidelberg, Germany, 1986; Volume 261, pp. 345–372.



© 2019 by the author. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<http://creativecommons.org/licenses/by/4.0/>).